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Mathematics 1201 Quiz
Chapter 4.1-4.4

Name:
Part A: Place the correct letter in the space provided. (10 marks)
1. Which number is irrational? i
A Ve =Y

- ° ® = - -— . . - —
— - - - - - .

&y

) 81 __ ﬁ
0) = -
16 l—f
1
D) 492 = j
2. Which statement is true? b

A)  All integers are whole numbers.
B) 8 is irrational.

. Irrational numbers are not real.
D)\ Natural numbers are in all number sets except irrational.
Which group of numbers shows an arrangement from least C
to greatest?

(5]

3/98.4/40.3/300.3/500.4/75
D) . 3:- 3
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4. ‘Which radical is written in the correct simplified form? A
@ Viz =243 L = \S 3= s
B) 25=5V5 \‘ 4 a

O 45 \Ef S

D) =T = tr\ﬁ

5. Write 2312 as an entire radical.

A) )ﬁ' 3 [
, ’ \Q
G P E
6. Express the side length of this square as a radical in snn lest
form. \r\ 2
a ] 0
A) A SR X = 353
% ﬁ \I'BL 7 | area:252 f° __X
647
D) 36J7 x = asa
7. ‘Which number represents h!:ldex‘? &;

Az

[ ]
1

A) 2
|
) 4

D) 16
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3

8. Write x? in simplest radical form. %
A wx 2
B) AN
0 Va? 5
D) \} X
9 0.5 ﬂ
9. Evaluate [—J
16

= |
=1
S~ __~

N

I
~ |-9\

1\
-l

B) ?
o 3
D)
10. Evaluate (- 27]% W) 2 é
A) -9
B -3
2L (3)=19
D 18
Part B: Show all working to receive full ma.rkis. (15 marks) S*.

L. Arrange these numbers in order from grjtest to least without using a
calculator. Show the method used to f&ceive full marks ™ (#rmarksT™

. T3, 3T 45

ﬁ 7 Tz JVE eSS
\ﬁ;-; \)-‘TE \J'ﬁ\i— 9*7) 16- S
F

ghast 2 fowest 3, Q’J-S-, 3J7) S\E )a\fé\
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2. Evlt lfﬂfll owing without a calculator. cShwtl steps
sed to e full marks.
(a) 64% 3 \4 "I (2 marks) ‘ l‘l
290
) &
256

2
(b) (%] :(' Y_( ) = i)—- 12-1 narks)
[00 JO [000

1

(7‘%\»:( P=38 W

(d) 0125 (2 marks) /3?-?
¢ \3 AN AN AW
(%) <3 320») Qo) (5= ¢
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